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A
* RIDE = 36, TEA ,LUX =2
| N\ AN

C.51

D.49
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®* Time of 2: 12: 20 1s being seen 1n the mirror, what time will 1t show?

HHq &1 18T © e 39 U H 2 T STU ol -1 THI ST 2

A.3:57:40
B. 10:45:12
C. 8:49:30
D.9:47:40
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® Statements:

* No Spiderman is Superman. SIS FATSSTH HILH &1 2
* No Superman is Batman. ﬁé’{l}l’(ﬁ?é@?ﬁ%l

* Some Spiderman are Batman. % T3S e B

® Conclusions:

* I. No Batman 1s Spiderman. g SeHT TRSWA Tal 8l X \ A
* [I. No Batman is Superman. &g sigi F\Iﬁl’ﬁ? ey Sq\rz/
* I1I. Some Supermen are Spiderman. %% YUHT TITESTHA & ><

* [V. All Batmen are Spiderman. Gt SEH T1gSH %lK Ond) )ﬁ\) MQ W
)

¢
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® Choose the correct option that will complete the given series..
* Tl forehed 3T = i1 a1 778 2@l hi 01 hA|
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® There 1s one term missing in the given series. Select the correct option from the
given ones that will complete the series.

* 31 173 SEeT H Ueh U I @ | Tou e forshedt 1 € 39 wal fashed ot =2 hifsg, S
AT shl GUT TN

¢ 15, 15\/8, 2,41, 65
3I- ' Z‘\
"‘ " 5=\
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Statement:

All windows are doors./G1 |(39|s|(<\=h€47 SCIS K

All buildings are doors./&¥ SATA L@ |
\ / * *
All doors are boats./g1 @S 19 2

Conclusion:

I. All windows are boats./@¥t fagiehat 7rel €
I1. All buildings are boats./&¥ TofeeT e %’\/

III. Some boats are doors./$s 79 TS B \/
A Lews
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Three positions of a dice are given. Find out what will be opposite to the
number 2 1n the given dice.

Teh qT® bl i Reerfai € meft 2) 3 Shifsa faw o ard @ g 2 o faada = g

& €D ‘
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In a certain code language, 'SMILE' 1s written as ' HORNV' and '"ANGER' 1s
written as 'ZVTMI'. How will 'REPLY" be written 1n that language?

weh fifdrd e Wi A, 'SMICE' %1 'HORNV' 3t ANGER' #1'ZVTMI 3 & 3

: C.IOKVBY |

— D BOIL
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® Choose the correct option to show the arrangement of the following words 1n a
logical and meaningful order.

o ffciitad sTeel ht sarEeI ol difeheh 3T ATeih shA H 23T o foTT Tt faened a1
SEEECAIELY

® 1. Medicine/adT

‘YZ.C/Ounseling/W{m"ﬁ ) ;; \

A.4,5,2,1,3

0 |
y

‘\? prescription/aaTWq%B . B35, 15253
‘Mse/&wwa 23,5, 3, 51

___ \/rD.4, 5,2,3,1
‘15. Doctor C
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®* Find the odd one

® 37T ohl Y29
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®* Find the odd one

® 37T ohl Y29

A.Poland

B. Spain
C.Korea
D. Greece
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® Two cars start from the same place at the same time. One of them goes 1n the
north direction with a speed of 20 km/hr and the other in the east direction with
a speed of 15 km/hr. Accordingly, what will be the distance (in km) between

them after traveling for two hours?

* 3 I Ueh & T © Ueh & T9T I IAd] &l 378 Tk 20 forri/eroe 6t fq 9 o feem
o I gadl 15 forri/eroe sht Tid @ g foum | St el S U] hl ATAT o 1S
3 it %ﬁﬁaﬁ(ﬁlﬁﬁ)ﬁwﬁ?
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* If the last day of a month (except February) 1.e. 30th or 31st day is Wednesday,
then how many Tuesdays are possible in that month? SSC 10+2

 1f foret HTE (RXart %k stfdfier) sifcw o o aterfq 30 a1 31 AR 1 fod qeam 2,

139O8 T fohdd Oiela i 99 22
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- NIUSL: ILLUSION :: TBERVARE: ?

'A.STRANGE

B. VERTEBRA

C. VABTERE
D.ERAVEBT

any of the small bones that are connected
together to form the column of bones down

the middle of your back (spine)

{1 <1 Tt shi T (<1 Th 3); HreHT
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* [f DREAM is coded as 78026 and CHILD 1s coded as 53417, then how 1s
LEADER coded?

* fc DREAM 1 49T | 78026 foram St & 3T CHILD %1 83417, @
LEADER T o1 ¥ fohe SR forert S /

b

D. 102708
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®* Kusum 1s the wife of Ravi. Govind and Prabhu are brothers. Govind 1s the
brother of Ravi. How 1s Prabhu related to Kusum? (SSC CHSL)

* SHEH el <l Tl B TS ST TY TS 7| TMferee, Tfer oAl TS 2 ¥ 3h1 HEH & 1
qHY 87

0 \ A.Cousin

. Brother
C. Husband's brother

D. Uncle
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* In the following questions, count the number of triangles and squares 1n the
given figure.

o TFfeTRed St |, &1 775 3ATehid | BTl SISl shi €T 7|

/
R\ \/TA.44 triangles, 10 square%

B. 14 triangles, 16 squares
C. 27 triangles,6 squares

D. 36 triangles, 9 squares
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* Choose the alternative which 1s closely resembles the mirror image of the given

combination.

* 3 forehed I T ST 14T T HAST shi GHUT ST o THH 2
g__ﬁflﬂ JAGAIVVNOW

t_IMﬂMhEHE'ﬂ'F BEY
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